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Does the trinomial have a GCF? State yes or no.

a  x*=2x-12

A

b 3x*—6x-36

Get 3



Does the trinomial have a GCF? State yes or no.

c) x> +3x°—18x

gt~

a) —3x*-12xy+36y°
=3



Factor completely.

e 3x*-27x-30
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Factor completely.

9 6x°+12x-144

M 5x* +25x-250



Factor completely.

) 4x° —=25x% +25x

) 2x°+28x+96



Factor completely.

K 4x*y—-25xy+25y

) 6x*+54x-60



Factor completely.

m 2x* +22x% +56x°

(X% +28)
I (x+2 YO Lf)

W 222427 +64x = AX (f- |d % +32)
24 Fx 2y ~ }
Iv(x-8)x -4



Factor completely.
0) ’—j—x +j-x+64 = "O?(Y L-l)( 3'2_>
2@ -g\(x + ¢)

P —4x> +8x+140



Factor completely.

@) 3x* +27xy-30y"

n 3x°=3xy-210y°

3(%-xy-7b)
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Factor completely.

S 2x* -28xy+96y°

n —3x°-3xy+54y’



v 50x° -50y°
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